
 

�����  4 

��ก
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���
��������� 
 
  ก����ก�����	
�	��
���������
���ก���������
����
��

����
ก���� �����

� ��ก��ก��!�ก��"���	 
�#$�������
%��
!&�����
'(�
)�
��ก��  
��ก�%
*�
�ก��
�'+�,-
��.
ก����ก��"��)	��ก�����
�����(�#��� �'+ 2 ����	
��
����
���ก���	���������������ก���
         
4  ��
  ���
�  
 ��
!�" 1 ��ก���	��������$�
%�&��������'(''��'$��  
 ��
!�" 2 ��ก���	��������%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����
�	+�ก��
����$�
-.ก/� ���ก�����
�ก��
���&0 
!�"ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 
 ��
!�" 3 ��ก���	���������ก�������	
�14%�&%��*
�$�
-.ก/����
�������
����ก45�
ก�����ก�
�14%�&%��*
%��
!&�����
'(�
)�
��ก��  ���ก�����
�ก��
���&0 
!�"ก��-.ก/�
���$�-.ก/�&��
��-����12�� ��� 2 
 ��
!�" 4 ��ก���	��������������&�
2�����6���%�&ก��*+��!�,
,�������
�!-            
*
ก��'�	�����
�	+�ก��ก�'��ก�������	
�14%�&%��*
���
�������
����$�
-.ก/�  ���ก��
���
�ก��
���&0 
!�"ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 
 

������ 1 ��ก
��
���
�����
��
���������� ������
�  
 ��ก���	��������$�
%�&��������'(''��'$�� 
��(
ก��� �&- ���1 ����'ก��-.ก/� 
(������'ก��4�*
ก��!����
  ������ก7��*
�����  3 
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�����  3  
��
�
  (���������������
��:;���	+�ก��
��(
ก����$�
%�& 
                  (N = 183) 

�$�
%�& 
��
�
 ������ 
   
�&- 
 +�� 32 17.50 
 �C	� 151 82.50 

��� 183 100.00 
   
���1   
 �"��ก�6� 30 �D 42 23.00 
 30 E 39 �D 31 16.90 
 40 E 49 �D  42 23.00 
 50 �D �. 
H�  68 37.10 

��� 183 100.00 
����'ก��-.ก/� 
 ��	CC���� 52 28.40 
 ���ก�6���	CC���� 131 71.60 

��� 183 100.00 
����'ก��4�*
ก��!����
   
 �"��ก�6� 5 �D 51 27.90 
 5 E 9 �D 51 27.90 
 10 �D�. 
H� 81 44.20 

��� 183 100.00 
   

 
        
�ก����� 3  &'�6�  ��&����
����
� ��ก������$�
-.ก/��6�
*�C6 ���
�&-�C	�                
�	����
������  82.50 �����1 50 �D �. 
H� �	����
������ 37.10 
'ก��-.ก/����ก�6���	CC����               
�	����
������ 71.60 (������'ก��4�*
ก��!����
 10 �D �. 
H� �	����
������ 44.20    
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������ 2 ��ก
��
���
�����
�ก
�"#����$�$�%��
�����&"�ก
���
�
��
��
#
ก
����
��
�&'ก(
 �)�ก)*�+
�)ก�
�����,-����ก
�&'ก(
.����&'ก(
������&���%/0%
 ��� 2 

 ��ก���	��������%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����
�	+�ก�����
�$�
-.ก/� ���ก�����
�ก��
���&0 
!�"ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 �����$

����
�������ก7��*
����� 4 E 9  
����� 4  �6��I��"� (µ) (���6�
�'�"���'
����J�
  (σ) �%�&ก��*+��!�,
,�������
�!-*
ก��

'�	�����
�	+�ก�� ���
ก��&�K
����ก���� 
 

���
ก��&�K
����ก���� 
����'�%�&ก��*+� 

µ σ (������ 
    
1. �$�
-.ก/���ก��*+�����������
�!-*
ก��&�K
�(��

���'��1����ก���� 4.45 .56 ��ก 
2. �$�
-.ก/���ก��*+����&	������*
ก��
��!�����ก���� 4.38 .60 ��ก 
3. �$�
-.ก/���ก��*+�����������
�!-*
ก��&�K
�

���ก���� 4.36 .65 ��ก 
4. �$�
-.ก/���ก��
��ก������
ก����
����ก������
���

ก����
��+�&(���!�,
,��� (���&	������) ���
���ก����ก��-.ก/��� 
&0 
J�
 4.40 .60 ��ก 

5. �$�
-.ก/���ก��*+�,��(ก�������L
���*
ก��
��!��
���ก���� 4.46 .58 ��ก 

6. �$�
-.ก/��6����	�*���������
�����������$*
ก��*+�
���&	������ 4.49 .57 ��ก 

7. �$�
-.ก/���ก��*+�����������
�!-*
ก�������	

ก��*+����ก���� 4.34 .58 ��ก 

����I��"� 4.41 .36 ��ก 
    

 
  
�ก����� 4 &'�6� �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก�� ���
ก��&�K
����ก����  *
%�&������6*
����'��ก (µ= 4.41)   ��0"�&	
��4����
������&'�6� 
���6*
����'��ก!1ก���ก�� �������������'�6��I��"�
�ก��กH���
���  �0� �$�
-.ก/��6����	�*���������
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�����������$*
ก��*+����&	������ (µ = 4.49) �$�
-.ก/���ก��*+�,��(ก�������L
���*
ก��
��!��
���ก���� (µ = 4.46)  (���$�
-.ก/���ก��*+�����������
�!-*
ก��&�K
�(�����'��1����ก���� 
(µ = 4.45)  ������'���ก��!�"���6��I��"��"���1�  �0�  �$�
-.ก/���ก��*+�����������
�!-*
ก��
�����	
ก��*+����ก����  (µ = 4.34)   
 
����� 5  �6��I��"� (µ) (���6�
�'�"���'
����J�
 (σ) �%�&ก��*+��!�,
,�������
�!-*
ก��

'�	�����
�	+�ก�� ���
ก������������	
�� 
 

���
ก������������	
�� 
����'�%�&ก��*+� 

µ σ (������ 

    

1. �$�
-.ก/���ก��*+�����������
�!-*
ก�����(�
 
ก�������(�������	
�� 4.37 .55 ��ก 

2. �$�
-.ก/���ก��*+�����������
�!-*
ก��ก���
�

,�'�����'��'(���ก45�ก�������(�������	
�� 4.38 .58 ��ก 

3. �$�
-.ก/���ก���6����	�*���������������ก�"��ก�'
,��(ก�������L
���!�"*+�*
ก�����(�������	
�� 4.43 .53 ��ก 

4. �$�
-.ก/���ก��
��������1�1�ก�4� �+6
 ���&	������ 
��*+�*
ก�������(�������	
�� 4.50 .61 ��ก 

5. �$�
-.ก/���ก��
��������ก�������(�������	
��          
���	����������������&0"�&�K
�(�����'��1�            
��6���6��
0"�� 4.45 .57 ��ก 

6. �$�
-.ก/���ก��
����ก�������	
�����
�6�
����ก����!��'�6�
 Internet 4.49 .60 ��ก 

7. �$�
-.ก/���ก��
��!������������
�!-�&0"�(�����
ก������
������
�ก����
 4.48 .61 ��ก 

����I��"� 4.44 .37 ��ก 
    

   
  
�ก����� 5 &'�6� �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก�� ���
ก������������	
�� *
%�&������6*
����'��ก (µ = 4.44)  ��0"�&	
��4����
������
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&'�6� ���6*
����'��ก!1ก���ก�� �������������'�6��I��"�
�ก��กH���
���  �0� �$�
-.ก/���ก��
����
����1�1�ก�4� �+6
 ���&	������ ��*+�*
ก�������(�������	
��  (µ = 4.50) �$�
-.ก/���ก��
����
ก�������	
�����
�6�����ก����!��'�6�
 Internet  (µ = 4.49)   (���$�
-.ก/���ก��
��!��������
����
�!-�&0"�(�����ก������
������
�ก����
  (µ = 4.48)  ������'���ก��!�"���6��I��"��"���1�  �0�  
�$�
-.ก/���ก��*+�����������
�!-*
ก�����(�
 ก�������(�������	
�� (µ = 4.38)   
 
����� 6  �6��I��"� (µ) (���6�
�'�"���'
����J�
 (σ) �%�&ก��*+��!�,
,�������
�!-*
ก��

'�	�����
�	+�ก�� ���
ก��
	�!-ก��-.ก/� 
 

���
ก��
	�!-ก��-.ก/� 
����'�%�&ก��*+� 

µ σ (������ 
    
1. �$�
-.ก/���ก��*+�����������
�!-*
ก��ก���
�

��R�����ก��
	�!- 4.25 .60 ��ก 
2. �$�
-.ก/���ก��*+�����������
�!-*
ก��
��!��

(�
ก��
	�!-%��*
,������
*����������ก�'�%�&
�S

1'�
�SC��(����������ก�����,������
 4.38 .59 ��ก 

3. �$�
-.ก/���ก��*+����&	������*
ก��
���������0"�(��
��ก���ก��
	�!- 4.37 .67 ��ก 

4. �$�
-.ก/�
��*����ก�������
��ก���7	'��	��
,��*+�
���&	������ 4.18 .65 ��ก 

5. �$�
-.ก/�*��ก���
�'�
1
���
���0"���0�(���1�ก�4�
!�"�ก�"������ก�'ก����'��������� �กL'��ก/�(��
���(&�6������(������
�!- 4.28 .65 ��ก 

6. �$�
-.ก/���ก��
��!�������
��ก��
	�!-,��*+�
���&	������*
ก��
����
��&0"�
�������'��1�(ก�H�
(��&�K
��6�H� 4.36 .59 ��ก 

����I��"� 4.30 .45 ��ก 
    

   
  
�ก����� 6 &'�6� �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก�� ���
ก��
	�!-ก��-.ก/�����$�
-.ก/� *
%�&������6*
����'��ก (µ= 4.30)  ��0"�&	
��4�



 79

���
������&'�6� ���6*
����'��ก!1ก���ก�� �������������'�6��I��"�
�ก��กH���
���  �0� �$�
-.ก/�
��ก��*+�����������
�!-*
ก��
��!��(�
ก��
	�!-%��*
,������
*����������ก�'�%�&�S

1'�

�SC��(����������ก�����,������
 (µ = 4.38) �$�
-.ก/���ก��*+����&	������*
ก��
���������0"�
(����ก���ก��
	�!- (µ = 4.37)  (���$�
-.ก/���ก��
��!�������
��ก��
	�!-,��*+�
���&	������*
ก��
����
��&0"�
�������'��1�(ก�H�(��&�K
��6�H�  (µ = 4.36) ������'���ก��!�"
���6��I��"��"���1�  �0�  �$�
-.ก/���ก��*+�����������
�!-*
ก��ก���
���R�����ก��
	�!- (µ = 
4.25)   
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����� 7  �6��I��"� (µ) (���6�
�'�"���'
����J�
 (σ) �%�&ก��*+��!�,
,�������
�!-*
ก��
'�	�����
�	+�ก�� ���
ก��
��ก������
ก����
 

 

���
ก��
��ก������
ก����
 
����'�%�&ก��*+� 

µ σ (������ 
    
1. �$�
-.ก/�ก���
�*����������
�6����	�*���������
 

�0'��
��

�ก�	
�!����
L� 4.48 .59 ��ก 
2. �$�
-.ก/�ก���
�*����������
�6����	�*��
�ก����


H����'�������(��!�ก/�*
ก��*+����&	������              
�&0"�ก������
��� 4.33 .61 ��ก 

3. �$�
-.ก/��6����	�*�������ก��-.ก/���
����������
��������6�� T 
�ก Internet ��*+�*
ก��
��ก������
��� 4.49 .60 ��ก 

4. �$�
-.ก/��6����	�*����������
*+��0"�����%! CD, 
VCD, (�� CAI !�"!�
����(����������ก�'ก������
���
���ก�16�����ก������
��� 4.44 .61 ��ก 

5. �$�
-.ก/�ก���
�*����������
�6����	�*��
�ก����
            
*+���''�	��6��0"����!�� e-mail 4.50 .57 ��ก 

6. �$�
-.ก/��6����	�*�������ก��
���0"��!�,
,���
ก��-.ก/���*+���6��������	!2	%�& 4.45 .59 ��ก 

7. �$�
-.ก/��6����	���������

��*����'�	ก��*+�
���&	�������&0"�ก������
���(ก6�������
 4.39 .56 ��ก 

8. �$�
-.ก/��6����	���������

��*���������
����
���            
�6�
��'' e-learning 4.34 .53 ��ก 

����I��"� 4.43 .37 ��ก 
    

 
 
 



 81

  
�ก����� 7 &'�6� �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����


�	+�ก�� ���
ก��
��ก������
ก����
����$�
-.ก/� *
%�&������6*
����'��ก  (µ = 4.43)                   
��0"�&	
��4����
������&'�6� ���6*
����'��ก!1ก���ก�� �������������'�6��I��"�
�ก��กH���
��� 

�0� �$�
-.ก/�ก���
�*����������
�6����	�*��
�ก����
*+���''�	��6��0"����!�� e-mail (µ = 4.50) 
�$�
-.ก/��6����	�*�������ก��-.ก/���
������������������6�� T 
�ก Internet  ��*+�*
ก��
��ก��

����
��� (µ = 4.49) (���$�
-.ก/�ก���
�*����������
�6����	�*���������
 �0'��
��

�ก

�	
�!����
L� (µ = 4.48)  ������'���ก��!�"���6��I��"��"���1�  �0�  �$�
-.ก/�ก���
�*����������


�6����	�*��
�ก����
H����'�������(��!�ก/�*
ก��*+����&	�������&0"�ก������
���  (µ = 4.33)   
 

����� 8  �6��I��"� (µ ) (���6�
�'�"���'
����J�
 (σ) �%�&ก��*+��!�,
,�������
�!-*
ก��
'�	�����
�	+�ก�� ����$�
-.ก/� ���ก�����
�ก��
���&0 
!�"ก��-.ก/����$�-.ก/�
&��
��-����12�� ��� 2 *
%�&��� 

 

�%�&ก��*+��!�,
,�������
�!- 
*
ก��'�	�����
�	+�ก��  

����'�%�&ก��*+� 

µ σ (������ 
    
1. ���
ก��&�K
����ก���� 4.41 .36 ��ก 
2. ���
ก������������	
�� 4.44 .37 ��ก 
3. ���
ก��
	�!-ก��-.ก/� 4.30 .45 ��ก 
4. ���
ก��
��ก������
ก����
 4.43 .37 ��ก 

����I��"� 4.40 .32 ��ก 
    

  
  
�ก����� 8 &'�6� �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก��*
%�&������6*
����'��ก!1ก���
 (µ = 4.40)  �������������'�6��I��"�
�ก��กH���
��� �0� 
���
ก������������	
�� (µ = 4.44)  ���
ก��
��ก������
ก����
 (µ = 4.43)  ���
ก��&�K
�
���ก���� (µ = 4.41)  (�����
ก��
	�!-ก��-.ก/� (µ = 4.30) 
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������ 3 ��ก
��
���
�����ก
�.����
��/2�
��
%"�*�
�������%������
�&'ก(
  �)�ก)*

�+
�)ก�
�����,-����ก
�&'ก(
.����&'ก(
������&���%/0%
 ��� 2 
 ��ก���	�������ก�������	
�14%�&%��*
�$�
-.ก/����
�������
����ก45�ก�����ก�

�14%�&%��*
�$�
-.ก/� ���ก�����
�ก��
���&0 
!�"ก��-.ก/����$�-.ก/�&��
��-����12��          
��� 2 �����$
����
�������ก7��*
����� 9 
 

����� 9  �6��I��"� (µ) (���6�
�'�"���'
����J�
 (σ) ��ก�������	
�14%�&%��*
���
�������
              
*
%�&��� 

 

��ก�������	
�14%�&%��*
�$�
-.ก/����
�������
 
����'�14%�& 

µ σ (������ 
    
1.  	�+�0�
��.  1  !&�����
	��#$���	  1� ����	  2�����
 �	 
     ��.���"��
��� 3.42 .49 �� 
2.  	�+�0�
��.  2  !&�����
	�1 +
*�
�ก�
ก��(
#��ก��2��   
     ��3
�
 .�2�%��(	 3.35 .47 �� 
3.  	�+�0�
��.  3  !&�����
	���ก���
ก���*���
  ��กก�� 
     �*���
  	��1+�+ ��.%�+�((����
#1� +2��
�	��)�*���
 
     ���	ก��!&�(,.
4%� 3.44 .49 �� 
4.  	�+�0�
��.  4  !&�����
	����	
�	��)�
ก��� �������  
     
���������  	�� 1��$5�$  	����	� %
����
����   
     � %4+��+�(�  2��	�� 
�����
� 3.50 .50 ����ก 
5.  	�+�0�
��.  5  !&�����
	����	�&�2����ก����.1*��"6
 
     +�	���ก
&+� 3.36 .48 �� 
6.  	�+�0�
��.  6  !&�����
	���ก���
ก��2
�������	�&� 
     %���+
�(�  ��กก������
�&� 2����3
�+
�(�(����+�(�
,.(� 3.51 .50 ����ก 
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����� 9 (�6�) 
   

��ก�������	
�14%�&%��*
�$�
-.ก/����
�������
 
����'�14%�& 

µ σ (������ 
7.  	�+�0�
��.  7  !&�����
	�
#'
 
��  
#'���ก��  2�� 
     
#'���1 +��.%� 3.63 .49 ����ก 
8.  	�+�0�
��.  8  !&�����
	�
#
�������2����ก�$�
 
�� 
     %��
� �"�  %
+��  2��ก�7� 3.62 .49 ����ก 

����I��"� 3.48 .35 �� 
    

  
 
�ก����� 9  &'�6� �$�
-.ก/�����ก�������	
�14%�&%��*
���
�������
  *
%�&�����
�14%�&���6*
����'�� ��0"�&	
��4����
�������J�
 &'�6�  ���6*
����'��  ������6��I��"�
�ก��กH���

���  �0�  	�+�0�
��.  3 !&�����
	���ก���
ก���*���
 ��กก���*���
 	��1+�+ ��.%�+�((����
#1� +2��

�	��)�*���
���	ก��!&�(,.
4%�  	�+�0�
��.  1  !&�����
	��#$���	  1� ����	  2�����
 �	��.���

"��
��� (µ = 3.42)  ����J�
!�" 5 �������
���������(��!�ก/�!�"
�����
������ก���� (µ = 3.36)  2��

	�+�0�
��. 2  !&�����
	�1 +
*�
�ก�
ก��(
#��ก��2����3
�
 .�2�%��(	(µ = 3.35)  2�����6*
����'��
��ก  �������������'�6��I��"�
�ก��กH���
��� �0� 	�+�0�
��.  7  !&�����
	�
#'
 
��  
#'���ก�� 2��


#'���1 +��.%� (µ = 3.63) 	�+�0�
��.  8  !&�����
	�
#
�������2����ก�$�
 
��%��
� �"�  %
+��  

2��ก�7� (µ = 3.62)   	�+�0�
��.  6  !&�����
	���ก���
ก��2
�������	�&�%���+
�(�  ��กก������
�&� 

2����3
�+
�(�(����+�(�
,.(� (µ = 3.51)  ������'����J�
!�"���6��I��"��"���1�  �0�  	�+�0�
��.  2  

!&�����
	�1 +
*�
�ก�
ก��(
#��ก��2����3
�
 .�2�%��(	(µ = 3.35)   
 
������ 4 ��ก
��
���
�����
��)��)�0�����3
���
�ก
�"#����$�$�%��
�����&"�ก
�

��
�
��
��
#
ก
�ก)���ก
�.����
��/2�
��
%"�*�
�������%� �)�ก)*�+
�)ก�
�����,-����

ก
�&'ก(
.����&'ก(
������&���%/0%
 ��� 2 

 ��ก���	��������������&�
2�����6���%�&ก��*+��!�,
,�������
�!-*
ก��
'�	�����
�	+�ก��ก�'��ก�������	
�14%�&%��*
�������
 ���ก�����
�ก��
���&0 
!�"ก��-.ก/�
���$�-.ก/�&��
��-����12�� ��� 2 �����$
����
�������ก7��*
�����   10 E 11    
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����� 10  �6��������	!2	`�����&�
2� (r) ����6���%�&ก��*+��!�,
,�������
�!-*
ก��
'�	�����
�	+�ก��ก�'��ก�������	
�14%�&%��*
���
�������
 ���ก�����
�ก��
���&0 
!�"
ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 

 

              ��ก�������	
 
 
 
�%�&ก��*+��!�,
,��� ��

��
J�


!
�" 1 

��
��

J�

!

�" 2 

��
��

J�

!

�" 3 

��
��

J�

!

�" 4 

��
��

J�

!

�" 5 

��
��

J�

!

�" 6 

��
��

J�

!

�" 7 

��
��

J�

!

�" 8 

��
��

I�
�"� 

          
���
ก��&�K
����ก���� .786* .935* .273* .273* .380* .380* .419* .419* .682* 
���
ก������������	
�� .219* .168* .877* .877* .658* .658* .163* .163* .668* 
���
ก��
	�!-ก��-.ก/� .415* .376* .652* .652* .883* .883* .412* .412* .823* 
���
ก��
��ก������
ก����
 .552* .500* .592* .592* .653* .653* .329* .329* .740* 

����I��"� .601* .604* .685* .685* .656* .656* .281* .281* .785* 
          

        *p<.05 
 
 
�ก�����  10  &'�6�   �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก��ก�'��ก�������	
�14%�&%��*
�$�
-.ก/����
�������
 ���ก�����
�ก��
���&0 
!�"
ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 ���������&�
2�ก�
��6����
�������C!���$	�	!�"����' 
.05 ,�����������&�
2�ก�
����'�6�
������� d."���������ก�'����	J�
!�"�� �H�� 
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����� 11   �6��������	!2	`�����&�
2� (r) ����6���%�&ก��*+��!�,
,�������
�!-*
ก��
'�	�����
�	+�ก��ก�'��ก�������	
�14%�&%��*
�$�
-.ก/����
�������
 ���ก�����
�ก��
             
���&0 
!�"ก��-.ก/����$�-.ก/�&��
��-����12�� ��� 2 

 

���(�� 
�6��������	!2	 ̀
�����&�
2� (r) 

�6��������	!2	 ̀
���ก��ก���
� (r2) 

   
1.   �%�&ก��*+��!�,
,�������
�!- 
2.   ก�������	
�14%�&%��*
���
�������
���

�$�
-.ก/�   
.79 .62 

   

 *p<.05 
 
  
�ก�����  11   &'�6�  �$�
-.ก/����%�&ก��*+��!�,
,�������
�!-*
ก��'�	�����

�	+�ก��ก�'��ก�������	
�14%�&%��*
���
�������
  ���������&�
2�ก�
 ��6����
�������C!���$	�	    
!�"����'  .05 ,�����������&�
2�ก�
*
����'�6�
������� (r =  .79) ,�����(��!� ����������(�����

�6��ก�
 �����4������ 62  (r2 = .62)   
 


